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Note
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1. This question booklet contains 200 questions numbered from 1 to 200 and ,each question carry
1mark. All questions are compulsory. There is no negative marking.

2. Tally the number of pages alongWith no" of questions printed on cover page of the' booklet:
Also check that question booklet contains the questions of all relevant subjects/topics, as required
and no repetition or omission of questions is evident. '

3. If any discrepancy is found in the Question booklet, the same can be replaced with another
correct question booklet.

4. Before answering the questions please read carefully the instructions printed on the back cover
page of the question booklet and strictly follow them. There is no provision of erasing or
changing of the answer marked in O.M.R. answer sheets by any other means. Therefore, Indicate
your answers by blacking full bubbles by black ball- point pen carefully on the O.M.R. Answer
Sheet provided.

5. Use of any type of calculator, mobile phone or any other electronic equipment and log table
etc. is strictly prohibited.
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1. The Innersection ofeavity wall is
generally known as·

l·'

(A) Butress ~,

'(B) Leaf wall

(C) Pillaster

(D) Pillar

2. '. The 19em x 9 em side of brick as seen . 2.
in theewall face is' generally known
as

(A) Stretcher

(B) Face

(C) Front

(D) Header

3. Type of Bond in which every course
contains both headers & stretchers, is
called-

(A) English 'Bond

(B) Flemish Bond

. (C) Russian Bond

(D) Mixed Bond

4. The stepped structure provided for . 4.
.lateral support of.a structure, is

(A) Retaining wall

(B) Breast wall

(C) Butress

(D) Parapet wall
•..

"

~tlChI ~ 'ChT~idRcti m ftiqi'<H1~i
,j'Ch~MInl ~. - .

(A) ern
,(B) .~.~

(C) fQMlfG(

.
(0) Fr'Jf

~~cnt 19 em x 9 em lfiqcnt~
~ Wm.q. R~s"$~~, ChiwHdi~. -

(A) '$.R

(B) ~

(C) ~

(D), ~

3. ~.q~GftTCh~~q~~

.mff ~,(fi~HI(1'~ - ,~

(A) ~ GftTCh '

(B) q:MfJI~1GftTCh

(C) mGftTCh

(D) flIHI'aMI GftTCh

~ ~h€l'1' ~ trr.'fOi~ ~. ~ ~
~ll~ 11l fi(€I'1I~~.~-
(A) ~~

(B) q&l~

(C) ern
(D) .~~
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5. The type of ashlar masonry in which
stones are finely chisel dressed and
thickness of joints does not exceed
3mmis-

(A) Chamfered ashlar masonry

(B) Ashlar facing masonry

I(C) Random coursed ashlar
masonry

(D) Coursed ashlar masonry

6. If height of first storey of a building
is 3.25 m and riser is 13 cm, the
number of treads required, is

(A) 18

(B) 24

(C) 25

(D) 30

7. The local swelling of finished plaster,
is termed as

(1\) Cracking
(B) Dubbing
(C) Blistring

(D) Hacking

, 8. The maximum permissible deflection
of a timber beam supporting a roof is
where 'L' is span of beam.
(A) LIIOO

(B) L/150

(C) L/260

(D) L/360

5. "«~ etT ~. ~ ~ ,,«~etT
lftA~~\jffifito21T~~~

31ft.1ft.~ ~~~, Cfl~Hlffl t -
(A) ~~~

(B) ~~~

(C) 3if.:\~fqdW~ ~

(D) W~~

,
6. 3iTR ~ <qq.f ~ >r~ ,(ffi ~ ~

3.25 m. o~n '~Tl~~' 13cm ~ 01
3ilqlt<01E6 '~' ~.~~-

(A) 18

(B) 24

(C) 25

(D) 30

7. ~ m iR;m CHI\fG( ·ll ~~ ~Hlq

'Cfll~t -
(A) d'$Cfl"i I

(B) ~"

(C) . "Ch "h 1<"II "lo.n

(D) '~

8. unll ~ ~ ~ enm ~ UBCfiT '

~~~aNirmtl~
'L' UBetT Hktl$ t I
(A) LIlOO .

(B) L/150

(C) L/260

(D)L/360
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(A) .lJ(f

(B) ~~ 15 em ~'Ocfi

(C) ~~. 200 ern ~ 'Ocfi

(D) -;:n;r tfft ~ 'Ocfi

9.. The dado in bathrt)¢Ws should be 9. {!;:t'''''.I1( -ij 'isT' 'Ocfi ~'\iIT"'Il

:l3IENLVC _-_5 _- _.s_et_-_A I

provided upto-

. (A) Ceiling

(B) 15em above floor .

(C)· 200'cm above floor

(D) level of tap

10. Expansion joints in masonry walls are .
provide~ if length, ex~eeds-

(A) 10m

(B) 20 m

(C) 30m

(D) 40m

11. Theminimum strength of mortar used
in load bearing brick masonry is-

(A) 0.5 N/mm2

'. (B) 1Nzmm'

(C) 1.5Nzmm''

(D) 2N/mm2

12. The curvature of earth's surface is
taken into account only if the extent
of survey is more than

(A) 100 sq.km

(B) 160 sq.km

(C) 200 sq. kin

(D) 260 sq. km

10... ~ ~ ~ -ij >nm ~ ~ ~ t
~~~&IkCl$ ••••••• ~~m-
(A) lolfi

(B) 20 lfi

(C) 30 lfi

(D) 40 lit

11. <qf{ tTro1r~c;m;ft~ciit~-q~
~cit"1\4dq "mlf~~~-

(A) 0:5 Nzmm?

(B) .1Nzmm?

(C) 1.5Nrmm?

(D) 2N/mm2

12" ~&m -q '9:~ ift CfSnffi cit ~ ~
~~t~ri&mtFilPcl~\(~
~~m-
(A) 100em fcfi. lfi.

(B) . 160 em ~.lft:.

(C) 200 em fin. 1ft.

(D) 260 em fcfi. m.



13. It is more difficult to obtain good
results while measuring horizontal
distance by stepping.

(A) Up-Hell

(B) Down- Hell

(C) In low modulations

(D) In plane areas

14. If 'h' is the difference in height
between end points of a tape of length
'1'; the required slope correction is

. (A) h2/21

h
(B) 21

(C)

(D)

15. The angle between two plane mirrors,
of optical square is-
(A) 20°
(B) 30°
. (C) 45°
(D) 90°

16. When the bubble of level tube of a
level, remains in central.
(A) Line of sight is horizontal
(B) Axis of the telescope 1S

horizontal
(C) Line of collimation is horizontal
(D) Geometrical Axis of. the

telescope is horizontal

13. ~ftiTf am al~· '\tt ~ -ij .~
QROIl¥i 3tfutn ~ itoT ~ \iffi ~{\¥iIq 'i
~'\iffiff ~ I

(A) ~"Q'{~~

(B) "i:Rmrm~
(C) Cf;tf 3iSfsl6(l~s ~"Q'{

(D) ft¥iHH ~-ij

14. 'lIfa: ~ 'I' ~ktl$ $ tFmr $ q) mu-ij

.~ -ij 3tR. 'h' ~ mfATR $~ ~
f.:t 6(HOI ittn I

(A) hZ/21

h
(B) 2l

(C)

(D)

15. '3tTRCflH m<H' -ij q) ft¥iHM GtfuTI $
~ q;)ur itoT ~-

(A) 20°
(B) 30°
'(C) 45°

(D) 90°

16. WR H~qHl e6T HH ••r~CflI-ij ~H~HI
~-ij~~m-

(A) ~ m ft¥iHH ~ ~

(B) ~CfiT &&l ~¥iH~ ~~ .

(C) ftlqiH(OI ~ ft¥iHH ~t
(D) ~cfft·\AtI~Ri4 3t&lft¥iHH~

~
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17. A.Relatively fixed point .of known
elevation above datum', is' called-

. '.
(A) Bench mark
(B) Datum point

(C) Reduced level

(D) Reference point

18. The backsight on staff-kept on B.M.
of R.L. 500,00 m isZ,·;685m.Iffore
sight reading on a point is 1.345 m,
the reduced level of the point is
(A) 501.340 m .

(B) 502;685 m
(C) 501.345 m
(D) 504.030m

19. In reciprocal leveling the error which
is not, completely eliminated, is due
to

(A) Curvature of Earth

. (B) Non-adjustment of line of
collimation

(C) .Refraction

(D) Non-adjustment of the bubble
tube

20. The Boundary of water of a still lake,
represents
(A) Level surface,

(B) Horizontal surface

(C) Contour line
(D) A concave surface

17. '~at'm"«~~~(01Ji) ~~~

"ffi"l ~lm' mmt th&~mftt -
(A) 'ffiOf~

(B) ~~ 'ffiOf ~

(C) ~al 'ffiOf

(D) ~~

18.' .~. 'ffiOf .~. M(01Ch\mQ-alm;r 500.00
lfi. t,~'q'{~~'tfPf{~~CniWitfi

2.68Slft.tm.rr~~tR ~Q\iWiCf)

1.345lft. ~m~'Chr~&l(Wfmm-
. • -.:>

(A) 501.340 1fT.
(B) 502.685 1fT.
(C) 501.345 1ft.
(D) 504.030 1fT.

19. ~~&TUT-ij~~~()qir~~

~Cffl·~~.~tCfflt-

(A) "l2Cft'~ ~

. (C) Q(\i'.nf4

20. ~.~ ~ m;ft® ~ SlG~io 'Cfitft

~-
(A) 'ffiOf~

(B) ~~

(C) «m€EI 'WI

(D) ~~
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21. The whole circle bearing of a line is
120°, Its Reduced bearing is

(A) S 200E

(B) S 600E

(C) N 120E

(D) N60E

22. Imaginary line' passing through
points of equal magnetic declination
is termed as

(A) Isogon

(B) Agonic line

(C) Isoclinic line

(D) None of the above

23. The zero of the graduated circle of
.prismatic compas is located at

(A) North end

(B) East end

(C) South end

(D) West end

24. Profile leveling is usually alone for
determining.

(A) Contours of an Area

(B) Capacity of a reservoir

. (C) Elevation along straight line

(D) Boundaries of a property

21. ~~cnr~~m;r 1200~,~
«ql;f)H R~q14 Wrr -

(A) S 200E

(B) S600E

(C) N 120E

(D) N600E

22. ~ &'I1~qR&'I~ ~. ~ 14kCc€\~
R~qIH ~311~ ~nn~, Cf)~&lItf\~ -

(A) flqR~q IH ~ .

(B) ~ R~qltf\ 'Wr

(C) flq4q4 ~

(D) ::sq{l'dl -ij ~ ~ -;nff

23. rn.,zqre&'l R~~~&'I~ ~KH'~,fS1il:R~

~~~~-
(A) m.·.tm:l:R

(B) ~ tm:l:R

(C) ...~ tm: l:R

(D) qij',;rtf\ ~ l:R

24. fllql~H: qR:'tl0q ~atUT f.:n::f}'IT ~
~~~~~tl

. (A) ~$tfl""'~~

(B) \It&ll"i~ cfiT ~

(C) ~m-ij~

(D) ~a:qRt cfIT ~
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,25. The bearings of twoJi"pes of traverse
AB and BC areN 52()A5'E and N 34°
30' E respectively. The- deflection -
angle is

. .j ,'f

25. ~ ~cm1IiTGT,mtm AB q'BC"*
R~¥{I9f~: N 52°45'E q N 34° 30' E
t~mm~.~$q.1Tm·-

(A) 87° 15' (A) 87° IS'

(B) 37° IS' (B) 37°15'

(C) 18° is' (C) 18° IS'

(D) 55° 30' . (D) 55° 30'

26. The bearing of. a line AB is 152° 30'
and angle ABC measured clock wise
is 124° 28'. The bearing ofBC is

(A) 27052'

(B) 96° 58'

(C) 14~008'

(D) 186° 58'

27. Fluids change the volume under
external pressure due to-

(A) Plasticity

(B) Viscosity

(C) Compressibility

(D) None of these

28. For exerting a pressure of 4.8 kg/em',
the depth of oil (specific gravity 0.8),
should be-

(A) 40cm

(B) 41cm

(C) 56cm

(D) 60cm

26. ~~ AB CFiT ~I9f 1520 30' t~
~mrr.q.~mt~ ABew"Q'A

I 124°28'tm'Wr Be CfiTR~ql:t~ -'

(A) 27° 52'

(B) 96° 58'

(C) 148008'

(D) 186°58'

27. ~~~~.q~qRSld:t'f~q,
~ tnroJl irnT t ,
(A) t!~~i4dl

(B) ~i41:tdl

(C) «cflSi4dl

(D) 3QUffi.q ~ ~ ~

28.' 4.8fc6.:mlcm.~.CfIT~~~
$~~ (~~p.8) <it
~mm-
(A) 40 ~.lft
(B) 41 ~.lff

(e) 56 ~.lft
(D) 60 ~.lft

Set· A:t3/ENLVC -9-



. 29. To avoid the force of surface tension
in an inclined manometer, the
minimum angle of inclination is

(A) 2°

(B) '3°

(C) 4°

(D) 5°

30. A floating body attains stable
equilibrium if its metacentre is

(A) At the centroid'

(B) Above the centroid

(C) Below the centroid

(D) Any where

31. Equation of continuity of flow is based
. on the principle of conservation of

(A) Mass

(B) Momentum

(C) Force

(D) None of the above

32. If Cx, Cc, Cd and Cr are the hydraulic
coefficients of an orifice, then-

(A) Cd = Cc.Cx

. Cx2
(B) Cr= 1+-

Cd

(C) Cx = Cc +Cd

'CD) Cc = Cx /.Cd

r r
t t

29~ 110 wmt m-QT -ij ~ o;nq ~ ~ CfiT~
~$ft;ro: ~"1cl~~.itm~-
(A) 2° .

(B) 3°

(C) 4°

(D) 5°

30. ~·.~~~mm-~Cfil>rmmm·~
~~ 'lro~' Wrr~-

(A) ~~1R

(B) ~~$~

(C) ~~~~

(D) ~m

31. ~$~~ Hm€Fl(OI RfiBChm&tUT

m'4l•.cl1R..:mmftl~I

(A) ~

(B) iPT

(C) ~

(D) 3QU:m-ij ~ .~.-;nft

32. ~ Cx, Cc, Cd q Cr ~ ~ ~
~~~~

. (A) Cd =Cc.Cx

Cx2
(B) Cr= 1+-

Cd

(C) Cx = Cc + Cd

(D) Cc = Cx / Cd

13IENLVC -10 -
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33. A triangular notch-is-preferred to
rectangular notch because-

(A) Only one Reading isrequired

(B) It gives more accurate result for
low discharge

(C) Its formula is easy to remember

(D) All the above

34. Power transmitted through a pipe is
maximum when friction head loss is

(A) One-half of the total head.
supplied

(B) One-third of the total head
supplied

(C) One-fourth of the total head
supplied

(D) Equal to total head supplied

35. For most economical rectangular
section of a channel, the depth is kept

(A) One-fourth of width

"(B) Three times hydraulic radius

(C) Half the width

(D) Hydraulic meandepth

33~ ~ 9&iloft4 ~ ~3"l14('1jCf)1~~ eiit
wr.n"-ij ~ <ft \ifRft t Cf4IRtl ~.

(A) ~ ~ ~$ 'Q'TO<fT$etl
3UCf'14Cf)dl~ ~

(B) q;q~~~ ~.~ 3"IW
QROII"1 ~~.

(D) 3Q<1'di~

34. ~~arU-«T.4Ifu1~~Wffi
~~~~cfftmR ""

35. 3"l14dlCf)I(ClI~Cf)1 ~ ~ m"iGI4Cfl

~~~~~Wffi~ -

"(A) ~cfft~~~

(B) ~~$Tm;r~

(C) ~ cfft3ffdl

(D) ~mttr·~~~
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36. An ideal fluid

(A) is frictionless and incompressible

(B) obeys Newton's law of velocity

(C) is similar to gas.

.(D) is very viscous

(B) ~~1'fftf~~CfIT~~

~

(C) tm~'~mot~

(D) ~·~~innt

37. Water displaced by a floating wooden. 37. ~tnr8~~ ~+tCfiI ~ 0.75 ~·om
block of density 0.75, 5 m long, 2 m 5 1ft. MiOCql~, 21ft~cr 3lft~ ~
wide and 3 m hight is tm ~ ~ 'tff.ft em ~ jprr _

(A) 17.5 m3
(A) 17.5 ~.1ft.

(B) 20m3 (B) 20 ~.1ft.

(C) 22.5 m' (C) 22.5 l:r.T.1ft.

(D) 25m3 (D) 25 l:r.T.1ft.

38. In order to avoid capillary correction,
the minimum diameter of a manometer
used for measuring pressure, should
be-

(A) 2mm

(B) 4mm

(C) 6mm

(D) 8mm

38. ~fQ(1flwm';f(1.II"1I~~~~
lfI1iT 'ctil "1 f{;cCfiI t\TI ;q:.H1'" ~ ~

~-.

(A) 21ft:Jfi.

"(B) 41ft.1ft.·

(C) 61ft.1ft.

(D) 81ft.1ft.

13IENLVC -12- Set-A
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39. The rocks formed by , gradual
deposition, are called

(A) Sedimentary Rocks

(B) Igneous Rocks

(C) Metamorphic Rocks

(D) None of the above

39. 1fi~Cfi ~ ~~ cm;f\' ~CfiT ~

~~-'
(A) 3'iCfttl;:f\ ~

(B) ~~

.(C) cflltiiaRti ~

(D) :aq{)ffi.q ~ ~ ~

40. Laterite is a 40. ~(miG irnT ~ -
(A) Volcanic Rock (A) iiCllH Itt{Sft ~
(B) Argillaceous-Rock " (B) ~~
(C) Calcareous Rock

(C) Q:;fR:iq~'j ~
(D) Silicious Rock (D) feRwtCfilqtl ~

41. A first class brick immersed in water,
for 24 hours, should not absorb water"
(by weight) more than

(A) 10%

(B) 15%

(C) . 20 %

'(D) 25%

42. The lime which contains mainly
calcium oxide and slacks with water,
IS

(A) Fatlime

(B) Quik lime ,

(C) Hydraulic lime

(D) ,Poor lime

41. ~ ~ .toft rJit .~ CfiT24 v.re Otf) 1:IT-ft

.q~Cfi'{mT~~, ~CfiT ----- ~
~m;ft~·(~~wm1R)~
cnm~-
,(A) 10%
(B) 15%
_(C) 20 %
(D) 25 %

42. ~. ,';ff ~ 1l~ ~ ~ $ft;~
~ ICffi I$.srJit mm ~ ~ nm 'Q'r.ft ~
m~~~, ~ ttilwm1l t -
(A) ~~

:CB) ~~~

(C) ,~~

(D) Cfiq<ffi{ ~
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43. The compound of port land cement
which reacts immediately with water
and sets first is called-

(A) . Tri-calcium silicate

(B) Di-calcium silicate

(C) Tri-calcium aluminate

(D) Tetra calcium alumino ferrite

44.! If p is percentage of water required
for normal consistency, water to be
added for determination of initial
setting time. is - .

(A) 0.70 P

(B) .0.75 P

(C) 0.80 P

(D) 0.85 p

.45. With the storage, strength of cement

(A) Increases

(B) Decreases

(C) No effect on strength
l

(D) None of the above

43. 4Ii;\og.~ $ 4tfft&i ~ -qr.ft $m?f
,~

~~~t""m~~t"c6t?Hlfi

~-
(A) ~-Q;;M4f1 mWt~G

(B) ~-Q;;M4f1 mWt~G

(C) ~-Q;;M4f1 l{~M~G

(D) ~ Q;;W~14f1 l{~M41 ~

44. 3fm ~ c6 fllfll04 ~$ ~'p' .
$(Rt~H1"QT-ftctT 3'llq~4&idl ~ t" m
mit;:G $m~ ~.~ ~ ~
$~-qr;fi MHI41~-

(A) 0.70 P

(B) 0.75 P

(C) 0.80 P

(D) 0.85 P

45. ~ $~ ~~ ~"fl"Tlf2(J

(A)~t"

(B) ~t"
(C) ~~(;J~ ~~~~

(D)3q(tffi -ij ~ ~ ~

46. Seasoning of Timber. is done 46. "&iTScnT q Rq CfC44~ \if\"ffi t" -

(A) To make it waterproof (A) ~~~$.~

(B) To paint its surface (B) ~~"fur.f~~

(C) ~ dlqSiifl q:;lf~.~~(C) To decrease its temperature
,

~ ~ f.l&ilfl4 ~ ~(D) To remove water (D)

Set - A13IENLVC -14-
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47. AccordingIS 393 -'1963, the weight
of the timber is speeifi&l at ~ .

(A) 8 % moisture content

(B) 10 % moisture content'

(C) 12 % moisture content

(D) 0 % moisture content

48., .The turpentine oil is used in pairtts as

(A) Thinner

(B) Vehicle

(C) . Base

(D) .Drier

47~ ~'tI'R$393-1963~~, C6TS
.'~ ..~ f.ti;t "Q"{ ~ ~l"\iffitT ~ -

(A) 8% \i1Mlltl
.

(B) 10% \i1Mi~1

(C) 12% \i1Mi~1 .

(D) 0% \i1Mi~1

48.." ~.q rlHcfl~~ ~ COT ~ •• " •••••

~ mf.q~'\i11m~ I

(A) l:ffiMT. coB

(B) ~

(~) 3fftm

(D) ~·coB

49 .. Dry Rot 49. ~~

(A) Cracks the timber (A) ~.q~~cnzyrr~

(B) Reduces the strength of timber (B) com$t ~ Cf)l:f ~ mrr~

(C) Shrinks the timber (C) ~cnlm~~1 mrr~

(D) Reduces the timber to powder (D) ~cnl~.q qR6IJ~ ~~

SQ. Wrought iron contains carbon upto

(A) 1.5 %

(B) 1.0 %

(C) 0.15 %

(D) 2 %

50. ~~.q~~lffifTmm%-

(A) 1.5%

(B) 1.0%

(C) 0.15 %

(D) 2 %

13IENL VC -15 -
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~51. 'If the focal length of objective gl~
is 20 em and the distance from obj~ct
glass to,the trunion axis is 12 em, the
additive constant is
(A) 0.8 m

(B), 0.40 m
(C) 0.32 m
(D) 0.20 m

,.52. A transition curve introduced
between the tangent and the circular
curve should
(A) have the same curvature at the

junction with the circular curve
as that of the circular curve

(B) have zero curvature at the
junction

(C) meet the curve tangentially
(D) none of the above

53. If the length of the arc or chord is
20 m, then 1" curve well have a radius
of
(A) 1718.9 m

(B) 1146 m
(C) 2865m
(D) 573 m

54. The parallax of a point on the
photograph is due to
(A) GroundElevation
(B) Flying Height
(C) Focal length of camera
,(D) All the above

51~3flTF~n~r~~<n~~cfn thlctifi ~ 20~ .1ft,
om ~ 'ffi:r q {R44 3tal $~
CFft ~ 12 ~.lIT ~ m4lflh'4OIctiff~
mm-
(A) 0.8lIT.
(B) 0.40 lIT.
(C) 0.32 lit.
(D) 0.20 lIT.

52. ~mrrq~$~~~t4ShI4t
~ltl

(A) m'A'cunlt MMH ~lR ~ShI41
~ cfn CfSfrnTm'A' cuneiIT ~
$~~~I

(B) y;qM14~~~~'~tl
,

(C) cun~ 'fQ~fW ~lt MMHIt I

(D) aq{tCf(1'lt ~ ~ ~ I

53. 3t1R~~ 3t~ iUqctiUT20 lit. tm
1"~,Pcn~'~-

(A). 1718.9lfi

(B) 1146lfi

(C) 2865lfi

(D) 573lfi
, .

54. titihllQ'i ~ ~ ~ cnr~, morl-
"

(A) ~ cfn ~ ~ cnron
(B) ~'~ $ "Cfi'RUT

'(C) ~ eiIT ~ M¥Oat 1$
(D) aq{t'di~$"Cfi'RUT

13IENLVC --16- Set- A
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55. The scale of a vertical photograph of
focal length 'f' taken from a height
of H meters above mean see level at a
point of reduced level, 'h', is
(A) f IH
(B) fl(H+h)

f
(C) H-h

H-h
(D) f

56. The scale of an aerial photography is
1 em = 100m. The Photograph size is
20 ern x 20 cm. The number of
photographs required to cover an area
10 km x 10 km, if longitudinal lap is
60% and side lap is 30%, will be
(A) 124
(B) 1£5
(C) 126
(D) 120

57. Void ratio is likelyto be lesser in

(A) Coarse grained soil

(B) Uniformly graded soils

(C) Fine grained soil

(D) Poorly graded soils

58. When, void ratio .e = 0.85, then
porosity n =

(A) 45.95%

(B) 17.65%

(C) 39.05%

(D) 2.65%

55. ~~ tri\ih]ICfi~ ~f'~ Mktl$

qH~~~lTmtt"m~~
m-Q'at m-T 'h' "ffi ~ ~mm -
(A) f IH
(B) f I (H+h)

f(C)
H-h

H-h(D) -
f

56. ~~menr~ 1~.lft. = l00lft.
t Im~ 3frefiR 20~:~. x 20 ~.lft.
tl3lTR ~~ 60% n?lT ~~

30%tit 10tfft.lft. x 10 ift.lft. ~*
~~~tfft 3i1€1!i(4f!bdl m-
(A) 124
(B) 125
(C) 126
CD) 120

. 57. f.n:;r ~ ~ ftmnT~ cnJ:f mm-
. (A) ~~~~

(B) t{Cfi(eicft(4 ~oflili(1 ~

(C) ~&-lf~~

(D) f.n:;r ~ 0 fl ili(1 T[GT

58. ~ftmnT ~ e = 0.85 t,it f1(fid I
n= .

(A) 45.95%

(B) 17.65%

(C) 39.05%

(D) 2.65%
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59. Sand bath method of determining
. water content is not suitable for

(A) Inorganic 'soil

(B) Fine sands.

(C) Soils with high organic matter.

(D) Soils of particle range 0.02 to
.0.075mm

60. For a three phase system of soil the
degree of saturation is

(A) Sr> 1
I

(B) Sr=O

(C) Sr= 1

(D) r> Sr> 0

61. At shrinkage limit of soil the degree
of saturation is

(A) 0%

(B) 50 %

(C) 75 %

(D) 100 %

62. The particlesize range for sand as
per IS soil classification is

. (A) 0.06 to 4.75 rnm

(B) 0.075 t62.0mm

(C) 0.075 to 4.75 mm

(D) 0.06 td2.00 mm

5~;:~~ ~ fcfrn'..m fit ~ CfiT

G1~hil '$ffl ~ ~ ~. 3q~<iR1~ t -
(A) 316hltf{QCh~.

(B) ~~~.

(C) ~ Chltf{QCh1fGTm ~ 1fGT

(D) 0.02 -« 0.07 5m :~ftCfiUT>r~ cm:ft
.~

. 60. ~BI~~ij f.iChlij %~~ •
~lttft

(A) Sr> 1

(B) Sr=O

(C) Sr= 1

(D) 1> Sr >0

61. ~cffr~~f.I"'~1:R~.~

lttft -
(A) 0%

(B) 50 %

(C) 75 %

(D) 100 %.

62. 'ql(ff\ij '1l'RCfiqifiCh{OI .~ .~ ~

~. '€fi'OT3mnR cnT>r~-sm t -
(A) 0.06 to 4.75 fJr.lft .

(B) 0.075 to 2.0 fJr.1fi.

(C) 0.075 to 4.75 fJr.lit.
(D) 0.06'to2.00fJr.1fi.
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l 63. The mass of hammer in Indian

standard heavy compaction is

(A) 2.495 kg

CB) 4.536 kg

(C) 4.89 kg

(D) 5.50 kg

64. -In clays the optimum moisture
content for compaction by rollers is
often close to

(A) plastic limit

(B) plasticity index

(C) shrinkage limit

(D) liquid limit

65. To effectively compact chunks of
clay the roller to be used is

(A) Vibratory

(B) Smooth-wheel

.(C) Sheep-foot

(D) Pneumotic-tired

66. A soil is said to be highly permeable
when co-efficient of permeability is

(A) > 10-2 em/see

(B) > 10-1 em/see

(C) < 10-2 em/see

(D) .< 10-1 em/sec.

63. ~ .~..mT ~.~ ~ ~ 'CfiT

q'R ~ t;;:· -.... r<

(A) 2.495fcf;.1JT.

(B) 4;536 fi6.1JT.

(C) 4.89 i$.1JT.

. (D) 5.50~.·

64. R.tCfi;ft ~.~ ~ 1ffi"~'~ ~
~ ~ -;pfi Cf)'tlffiTl\:~ t I
(A) «'4 ~~HlI ~ ~ <IN,(\€fi

~
(B) ~'i<4tH ~f.lCfiiCfi ~ 4\it{\tti

(C) fi~'6(4 ~ ~ 4~G1tti

(D) ~ ~~ 4\ittf,Cfi

65. R.tcr;;ft ~ ~pncnT. ;" .tq~ ~
~~·~.mort ..· .
(A) ~m-.
(B) .~~~~fu;R: .
(C) .~-"C«{~ . \

(D) ~GPR.m i

66. llGT~ 'q1(41Q;(ttl8~t.lff1 t- ql(41RH11

~f.lCfiiCfi .'inn t,
(A) > 10-2 ~ .'tft/~Rfloij

(B) > 10-1~."ft/~RflOg

(C) < 10-2~.+t~RflOg.

CD) < 10-1 ~:~f~Rflo,.
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67. The direct shear' test suffer from
several disadvantages, the main one
being- '

(A) Strainrate \CO,otrol
\

(B) Drainage control

(C) Volume ehan~ measurement

(D) Lateral deformation measurement
i

68. The unconfinedl gJrnpreSSiOn. test is
special type of, \ \

(A) Vane sheaf te~t

(B) Unconsolidated Undrained test

(C) Unconsolidated drained test

(D) Drained triaxial test

69. The degree of disturbance for a soil
sample is usually expressed by

',(A) Void ratio

(B) Area ratio

(C) .Recovery ratio

(D) Consolidation ratio

70. The weight of hammer and drop used
in standard penetration test are
respectively-

(A) 65.3 kg~ 75 em

(B) 56.3 kg ahd 100 em

(C), 635 kg (5t 75 em

,(D) 65 kg and 75 em

67.mu ~ mmr -q ~ €hf4ifi ~ ~,

¢~~~-

(C) ~ qRcui4 11TtR
I

(D) ~ 3'lQflQOI11TtR

68. 3'lQRflQS1ficf\&:~ mmt --~-- '€hT~

>lCfi"R ~ -

(A) 'it;{ ~ mftrr

(B) 3H"icfi&:4 3'I,SlcH~~

(C)
(D)

,,9. ~ Slfd&~h#?t'fcf~~~f1,q''4(1':

---'-,..~-$aRT SI~ai(1 ~~ - .

(A)~~

(B) ~~

(C) mfi:r ~
CD) ~cf\&:~(11 ~

,70. ,~~ mftrr -q ~ ~~ CfiT 'q"R

q-cmf~:~~-

(A) 65.3 rcn:m: q 75 ~:&ft

(B) 56.3 rcn.m. q 100 "it.1ft.

(C) 63.5rcn.m. q 75 ~.1ft. '

CD) 65 "fcfi.m.q 75 ~.1ft.
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71. If young's modulus of ,elasticity of a 71. ~ ~ l.TGT~1.nT em Cf)f ~?ffiT
material is, twice its modulus of ¥UqiCfl ~ ~ ¥HqiCfl'CflT~ t m
rigidity, then poission's ratio of the ~ 'Q'GT~ 'CflTcql$~Oi ~ itm -
material is

,(A) -1 (A) -1

(B) -0.5 (B) -0.5
(C) 0.5 (C) 0.5
(D) zero (D) ~

72. Two bars of different materials are of 72. Gl ~ 'Q'GTm 'irr ~ \)tOiCflI ~

the same size and subjected to same ~,t~?ll ~ ~ ~3iqfIRH1
tensile forces. If the bars have unit mor t I~ ~ 'CflT~ Hkll$ ~
elongations in the ratio 4 : 7. then the ''CflT~4: 7m~~qlql4)1
ratio of moduli of elasticity of the two

'CflT~~ •..material is

(A) 7:4 (A) 7:4

(B) 4:7 (B) 4:7

(C) 4: 17 (C) 4-: 17 '

(D) 16: 49 (D) 16: 49

•

73. Gl~q ~~ Slfi1cst&ll \)tOiCflI73. The .radius of Mohr's circle for two
equal unlike principal stresses of m;rpt~,~~Vlirr~Wft -
magnitude pis

(A) ,p(A) p

(B) P/2 (B) P/2

(C) Zero (C) ~

(D) None of the,above (D) aqihh -ij ~ ~ ~
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74. Maximum bending moment in a
beam occurs where

(A) Deflection is zero

(B) Shear force is maximum

(C) Shear force is minimum

(D) Shear force changes sign

75. A prismatic beam fixed at both ends
carries uniformly distributed load.
The ratio of the bending moment at
the supports to the bending moment
at mid span is

(A) O.S

(B) 1.0

(C) i.s

(D) 2.0

i
74. ~mur-q~~~~

mmt~-
(A) ~~~~

(B) ~~~W

75. ~ fSt~¥t\i4.~ ~ -mu ~. ~ ~
.~ mlfR ~ ~ ~ t1fht 'qR uroJT 'Jffift
tl ~ '$ fNI{ft q lfUT-q ~ ~.

enr~Wrrr-

(A) O.S

(B) 1.0

(C) I.S

(D) 2.0

~ H"1' eh H ~ ~ 'Cfi'l'Cft ~ ~ qffiT ! I

76. The ratio of width to depth of a 76.
~ q;:*ldl ~ ~ '$ ~ qstrongest beam that can be cut out of

cylinderical log of wood is ~enT~imT-

(A) 1/2 (A) 1/2

(B) 1/.fi (B) 1/.fi

(C) 1/3 (C) 1/3
(D) 2/3 (D) 2/3

Set-A
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M (A) R=M
(A) R=-' EI

EI

EI (B) M=EI
(B) M=-' R

R

" R R
(C) EI=-(C) EI=- ;M

M

(D) E=MI (D) E=MI
R R

•
77. The relationship between the radius '

of curvature R, bending moment M
and flexural rigidity EI is given by

78. A, simply supported .beam with
rectangular cross-section in subjected
to a central concentrated load. If
width' and depth of the beam' are
doubled, then the deflection at the
centre of the beam will be reduced to

(A) 50 %

(B) , 25 %

(C) 12.5%

- (D) 6.25 %

79. Buckling load for a given column
depends upon-

(A) Length,of column only

(B) Least lateral dimension only

(C) both least lateral dimension and .
length

(D) None of the above,

77. ~~R,~l{UfM:Cf.~~
. EI q:rr~U ~il(Iihu \iI1'ffi't -

78. ~ mvron 3ii~fii4(1 3ii(4(1i€fli( uv:r ~
~.q. ~ CJfR~ Clmff t .[3i1R U"{OT

~~Cf~cit~~~~
-m Q"{UT~ llUf.q. ~~ q;lf 6l ~iil.1I-

(A) 50 %

(B) 25%

(C) 12.5 %

(D) 6.25 %,

79. ~~~~~~3ii~T.lOiCJfR~

~-
(A) ~~~ Hkti$l:R

(B) 4\"1(1¥t ~1lN

(C) ~ ~ Mkll$ Cf 4\"1(1q ~ mtr
~

, (D) aq<'hfi.q.~ ~ ~
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80. Slenderness ratio of a 5m long
column hinged at both ends and
having a circular cross-section with
diameter 160mm is
(A) 31.25
(B) 62.5
(C) 100

(D) 125

81. For a determinate pin jointed plane
frame, the relation between the
number of joints' J' and members 'm'
is given by

(A) m = 2J - 3

(B) m = 3J - 3
(C) m> 2J - 3

(D) m> 3J - 3

82. Thepin jointed plane frame shown in
Fig, the force in the member BD is

80. ~ 5m ~ ~cq \iIl.Gf;fi mu -en: ~ .
."m~ ~"t'1ICfiI( ~~enRcnroqm
160m.m. t,cnrtlH •.g(4t1 ~itm-
(A) 31.25

(B) 62.5

(C) 100

(D) 125

1

81. ~f.furft~~~lrnrf~~,. .
~~~'J'"m~efIT~
'm'~~u~t-
(A) m=2J-3

(B) m =3J - 3 .

(C) m> 2J - 3

(D) m> 3J - 3

82. ~~·~~~~ftm~~
R~I~lllmt~ BD ~-ij~itm I

5kN

!'D

(A) 5kN (A) 5kN

(B) 5.[2 kN (B) 5.[2 kN

(C) 10kN (C) 10kN

(D) zero (D) ~
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83. The shear stress distribution 'over a
rectangular. cross-section ofa beam
follows .

(A) a straight line path

(B) a circular path

(C) a parabolic path

(D) an elliptical path

84. The standard length of rail for Broad
gauge and meter gauge are
respectively-

(A) 12 m and 12 m

(B) 12 m and 13 m

(C) 13 m and 12 m

(D) 13 mand 13 m

..

85. 'Gauge' is the measurement of
distance between

(A) centre to centre of rails

(B) running faces of rails

(C), outer faces of rails

(D) none of above

86. The side slope of embankments for a
railway track is generally taken as

(A) 1: 1

(B) 1.5: 1

(C) 2: 1

(D) 1:2

83. ~ 3'11'£(fI\q:)H .tT(OT -ij ~. Slfi'tCitM ~
R4f1(u\ irnT t -

(B) ~ ~'(1Iq:)H 'tf~ -ij

(C) ~ q(qM~Iq:)1( 'tf~-ij

CD)

84. mil"\ircnft~iI"\ir-ij~c6T~ Mk4t,$
'~:~t- ,\

(A) 12mer 12 m

(B) 12 mct13m

(C) 13 mer 12 m

(D) 13 mer 13 m

85. 'iI"\ir'~ cnTlff'(Rt -

(A) oo~~~~~irr~
(B) ~:crm CfiMef;) tS~irr~
(C) ~ "6(O'1&)1 ~ ~ -4it ~

(D) 3qihfi -ij ~ ~ -;rtf

86.'("~~q:) tS~~ \ifR ~ ~q:)~;:a
cnT~ 'iffi fi 1"11;:(4fI: irnT t -
(A) 1: 1

(B) 1.5: 1

. (C) 2: 1

(D) 1: 2
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87. Sleeper density in India is.normally . 87. \lffif.q~~ «'Q''4fl: ~~

kept as t-
(A) M+2toM+7 (A) M+2~M+7
(B) M toM+2 (B) M~M+2
(C) M+5toM+ 10 (C) M+5~M+ 10 .
(D) M (D) M

88. The nominal size of ballast·used for 88. qi$~'('1q sf;ff~~I'~~ ~ \iI"R ~

points and crossing is i11tt C6T«IQI'4 at'\CnR ~.~ -

(A) 25 mm (A) 251ft.1ft.

(B) 40 mm (B) 401ft.1ft.

(C) 50mm (C) 501ft.1ft'.

(D) 10mm (D) 101ft.1ft.

89. The equilibrium superelevation to be 89. ~ R ~.~ q'f.f;.m 'Ql: cm;f. ciiT
provided on a curve of radius R lTfif V ~.1ft :srffr 'der t,'ij~ ~f{;t~~I'1
meters and' speed of vehicle'V'kmph C6TlfRimT -
is given by

GV2 (A)
GV2--

(A) -- 127R
127R'

GV2 (B)
GV2

• --
(B) -- 160R

160R

GV2 (C)
GV2--(C)

147R 147R

GV2 (D) GV2

(D)
217R 217R
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90.' . In Rails, Switch angle depends on

(i) Head divergence

(ii) Length of tounge rail

(iii) Flangeway clearance,

(iv) Throw of switch

The correct answer is

(A) (i) and (ii)

(B) (ii) and (iii),

(C) (iii) and (iv)

(D) (i) and (iv)

91. Which of the following turnouts is
most commonlyused for goods train
on Indian Railways?

(A) 1 in 8V2

(B) 1 in 12

(C) 1 in 16

(D) 1 in 20

, 92. For. a sleeper density of (n + 5), the
number of sleepers required for
constructing a broad gauge railway
track of length 650 m is

(A) 975
(B) 918

(C) 900

(D) 880.

(i) l:fI'iWr3iQfHOI,

(ii) i1T ~ cfiT ~ktl$

(iii:) ~,Fcm41«
(iv) ~m
~~t-
(A) (i) q; (ii)

(B) (ii) q (iii)

(C) (iii) q(iv)

(D) (i) q(iv)

91. q1M41141 ~ ~ ~ ~ ~ -it
G-t3tTR,'Wim~~t~t -

(A) 1 -q.·8V2

(B) 1 -q. 12

(C) 1 -q. 16

(D) 1 -q 20

92. ~mir\il~ 650lft. ~tcn~ ~qiol
~~ fMlqffcfiT 3ilq0?4cti(ti~, ~ ,.

~~(n+5)it-

(A) 975
(B) 918

(C) 900

(D) 880
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93. Principle of surveying followed to
. prevent accumulation of errors is.
(A) to work from whole to part
(B) to work from part to whole
(C) both are equally good

mentioned above
(D) none of the above

94. The error due to bad ranging is

(A) Compensation
(B) Cumulative positive
(C) Cumulative negative

(D) both (B) & (C) are correct

95. A straight line tangential to the
horizontal curve of the level tube at
its centre, is.known as
(A) Horizontal Axis
(B) Line of Collimation
(C) Axis of bubble tube
(D) Line of sight

96. The error eliminated by taking mean
of both face observations by
theodolite is
(A). Error due to eccentricity of

vermers
(B) Error due to imperfect

adjustment <?flevel
(C) Error due to line of collimation.

not being perpendicular to
horizontal axis

(D) All the above

93. ~-ij~i6 «il401 cit~ ~~
m~cf;r .::Hd)fi{OI~~~q~-

(A) ~ -ft ~ cfiT 3ffi ~ ~
(B) 'qfff -ft ~ cfiT 3ffi ~ ~

(C) 3qihfl criutpir~)~ ~ ~ ~
(D) 3q{)ifl.q -ft ~ m

. 94. ~~~crnur~irffT~-
(A) fiq\l101

.(B) U41("qCfl ~

(C) ;aOlkqtfi~

(D) Gl (B) q (C) ~~

95.. n#fa:m O1WtCflI ~ ~ ~ ~ mfi ~

mootfiT~~-

(Ar ~ 3t8,{

(B) ~URoo

(C) ~ 01Wt tfil3t8,{

(D) ~oo

96. ~4ISIHI$G mT Gl;fr CfiHChI-ft Wro: ~
qlo4i€hl CfiT m~ ~ -ftm ~CfiT

~ &11q01it '\l11OT ~ Cffl ~ -

(A) ~~3ffl:;Rd~~CfiT{UT~

(B) 'fi1ftfi q dH ~ ~ ~.CfiT{UT~ .

(C) ~UR~~ ~ 3t8,{~ Hklccd

~~-ft~

(D) 3q{):m ~ ~ ~ .
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97. The graduation on the vertical circle
of a theodolite are
(A) 0 to 900 in clock wise direction
(B) 0 to 900 in anti clock wise

direction
(C) 0 to 3600 in clock wise direction
(D) 0 to 1800 in clock wise direction

98. While making measurement with
tacheometer surveying, the following
corrections are made
(A) Slope & tension
(B) Slope only.
(C) Tension only
(D) None'

99. The use of' analytic lense "in the
focusing telescope of a tacheometer
makes-
(A) The multiplying constant as 100

and additive constant· zero
(B) The multiplying and additive

constant as 100
(C) The additive constant 100 arid

multiplying constant as zero
(D) None of the above

100. If the intercept on vertical staff is
observed as 1.5m from a tacheometer,
the horizontal distance between
tacheometer and staff station is
(A) 75m
(B) 100m
(C) 150m
(D) 300'm

•

I

97. fll'lI"I"'I~i'if;'3~#-q-( ai<n.ti\m
t - . I
(A) O~ 9~0~Olct~:tIl-ij
(B) 0 ~ 900 ctlqlctd trr-ij

\ ,

(C) (\)"\f 3/jO° Gfil.. ~mrr ii .
(D) O\~ 1800m~-ij

! I .
1 'I i •

98. ~:~ "'t"..AA wm
I

(A) 3' ~ o.:rrcr $
(B) GTFf$

(C) . ~$
(D), ~im~

i I' . .
99. ~ <lrr ~, 'fll~ia", .-ffit

$~'fWrrt Ii·

(A) ~ • ~ f Of m'"''''''
. (B) ,~iflflh·qlw-emcn 100

(C) ~\ (' f?~ 100 q 1Jmf
~~ I

. (D)ii'" ii"\f ""Wr

100. ~ ~Pch4hflG(mrkm ~ 'Q"{

. :;i;~!;fa:'t~.~~"MZ\Of

(A),; 7pm. \
(B} ,1~0lft. • I

(Cl\ ~50lit.!
(D) ~oom. \

I

, \

\
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10~. The unof measurement for steel
works irusses and its,parts is in _

(A) qual

(B) err

(C) mners

!D) kilram

102. Which e is overhead expenditure
of the fowing items ...,........._

(A) Re:and taxes

(B) Estlishment charges

(C) Ofe stationery items

(D) Wcmen' s compensation

103. All pipeand fittings¥e classified
accordinto their

(A) lenh

(B) diaeter
1

(C) weht

(D) no; of the above

104. In RCCructures, the deduction for
volumeccupied by' reinforcement
bars is ade i

(A) Eal to volume of bars
•

(B) 50 of volume of bars

(C) Ndeduction is made

(D) Nie of the above

101. ¥f~~~~~~~cnT
lfTtr.f fcf;m iffi"ffi t-
(A) RfqaM -q. ,

(B) ~. m. it
(C) ~-q.

(D) f~W1'i!ll q -q.

102. ~.~ -q. ~ q,10i«1 ~ ~ -q. 3ITfft

t-
(A) f&iWH ~ ~

(B) ~~~

(C) ,CfiltliMtI'l"l}!IOi{\lfG

(D) Cfish:uftif1 'Cfll aiRtqJff

103. ~ ql$q(Ot q RhRa(Ot 'Cfll qaffllH'1 fcf;m

iffi"ffi t -~ -~.
(A) 'HkCl$

(B) ~.

(C) 'qR

(D) aq(J'ffi -q.~ q;)f ~ ,

104. S1Rtcqf{;ja ~ -q., S1cqMOi~ am ~
~ 3m«r.f ~ ~ 'fflM t -
(A) ~~ 3m«r.f ~ ~

(B) ~~~~·50%~~

(C) q;)f .Cfie1ffl ~ ~. ~

(D) aq(J'ffi-q. ~ q;)f ~
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108. Which of these items is 'notmeasured ,- 108. f.tl:;f .q ~ fih'E'tCfiI l(lq;f "Cftf ~ .q ~
in square meter ~ '\iffi1T - '

(A) Damp proof course (A) -;p:ft~W

(B) Form works (B) ~crci;
< .• ~. "

(C) Concrete] affries (C) .~ \il14'itl

(P) Sjf'dqf{;jft ~ ~
(D) R:C. Chhajja

105. Book value of a property is defined
.", . "',' :' J .•.as . -' v.';

(A) Original cost of property minus
depreciation

(B) Original cost of property

(C) Appreciated value of property

(D) None of the above

106. The value at the end of useful life of
the property is called

.(A) Life cost

(B) Book value'

(C) Salvation value
" ,

(D) None of the above

107. No. of bricks required for 1.0 cum of
masonry wall is

(A) 1200

(B) 800

(C) 700

(D) 500
t

105.~~~'~~'~
~\iffi1Tt-

(A) , ~ ~ ~ ~.q &rtuT €4GICfi(

(B) ~'CfiT~~

(C) ~'CfiT~s3lT~

(D) 3QU'ffi.q~ ciIl~

106. ~3Q<i\'ft ~ ~ 'at"re:'~ 'CfiT~

Cfii$Mlft It-

(A) ~~

(B) ~~

(C), ~+d'(~
(D), 3QU'di.q~ ciIl ~

, 107. 1.0 lTof·~ ~ ~ ~ ~ ~ ift
~~-
(A) 1200
(B) 800
(C) 700

(D) 500

13IENLVC
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109. The expected out turn' of brick work
in cement mortar in foundation and
plinth per mason per day is

(A) 1.00m'

(B) 1.25m3

(C) 1.5m3

(D) 1.75m3

110. The diameter ofa domestic sewer
pipe laid at gradient I in 100 is
recommended

(A) 100mm

(B) 150mm

(C) 20pmm

(D) 175mm

1
\
t

109. ~.'$.~ 'ij ~~ ~-;:ffcf 'ij ~
~'$~~ ChI{l4H~ 51RtR4 ~
~ q{lou14 Wm ~ - !

I•
I

(A) 1.00 ~. lft.

(B) 1.25~. lft.

(C) I5~.lft.

(D) 1.75~. lft.

I
110. ~~~~ftm 100'ij 1~

'Q"{ &141141 '\if'ffiT ~, CflT 04m ~ ~ -

(A) 100 ilr. lft.

(B) 150 ilr. lft.

(C) 200ilr. lft.

(D) 175ilr. lft. ,

t,

i•••,l111. Thebrick wall ismeasured in sq.meter 111. ~ cfiT ~ CflT If(q'';f qtf ~ 'ij ~
if the thickness of the wall is '\if'ffiT ~ ~. ~ ~ iI1ft ~ -

(A) 10cm (A) 10 ~.lft.

(B) 15cm (B) 15 ~.lft.

(C) 20cm (C) 20~.lft.

(D) None of these (D) f.rt;r 'ij ~. ~ -;rtf

/
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112. For 12mm thick cement plaster 1: 6
on 100 sq.m new bnick work, the
quantity of cement required, is

. (A) 0.200 rn'

(B) 0.247 m3

(C) 0.274 m3

(D) 0.295 m3

113. An access from a road to private.
property is known as

(A) Fly over

(B) By pass road

(C) Loop road

. (0) Drive way.

114. The number of vehicle using the road
per hour during peak periods and the
average of several peak days is called

(A) Traffic volume

(B) Traffic density

(C) Traffic rate

(D) Traffic plan

112. ~~~~~lOOCflf~"IR 12fir.
1ft.~~'1: 6~~~tMl+a(
~~, ~ cfit 3'flcc0\i4cfi(11~ -

(A) 0.200~. 1ft.
(B) 0.247lf.:r. 1ft.
(C) 0.274~. 1ft.
(D) 0.295~. 1ft.

113. ~. R ~ ~ ~ ••qre (feti ~ ctiT
'Cfim~t -

(A) ~~

(B) ~'q'R1~

(C) ~~' .

(D) ~tr~

114. 6Qf(1nq ~ .q. >rftt lkr ~ ~ >n:rTrr
cm-~~~nm~'rlW Ol4~nq

~$ afu:«r~~t-
(A) 4InI41n'~

(B) 41nl41n ~€4'1nl

(C) . 41nl41n ~

,"
(D)4InI4In 4 1'J1'11

115. As per IRC the Camber on cement 115. ~ ciis€\a~ ~ ~ ~ ~. sm.
concrete road should be lfi aRt ~jI"'l~n~ irffit -
(A) 1 in 60 to 72 (A) 60 ~72.q. 1

(B) 1 in 45 to 60 (B) 45 ~ 60.q. 1

(C) 1 in 20 to 24 (C) 20~ 24.q. 1

(D) . 1 in 12 to 16 (D) 12 ~ 16.q. 1
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116. The recommended safe co-efficient of"
friction for roads is

(A) 1.5

(B) 0.15

(C) 1115

(D) 15

117. Excessive Camber on pavement may
cause

(A) Erosion of Berms .

(B) Deterioration of centre position

. (C) Slip of speedy vehicles

(D) All the above

118. As per IRe the maximum width of a
vehicle should be

(A) 2m

(B) 2.44m

(C) 3.8m

(D) 1.58m

119. The value of ruling gradient in plains
as per IRC is

(A) lin 15

(B) 1in 20

(C) 1 in 24

(D) 1 in 30

116. 'ff"lfil $ ~ ~~ ~vr l]urTCfi
" 31epnRd~·-
(A) 1.5

(B) 0.15

(C) . 1115

(D) 15

t
t

117. ~ tt ~ ~ ~ (fffi'UT. mm "
t-
(A) ~ CFiTcgrq

(B) lf~ 'l{(1T qrr ~ m-r
(C) ~.l1fit ~ ~ CfiTffR;rr

(D) :;S4ihfi ~

118. "'lffifttf. ~ ~ ~ ~ ~ ~
~~ir.ft~-

1
1
1
\

· J

(A) 21ft.

(B) 2.441ft.

(C) 3.8lfT.

(D) 1.581ft.

119. ttqdM af;r -q ~Htftij ~~ am
~ 1RT f.:Iij IqCf) TrR mm ~ -
(A) "15-q 1

(B) 20 -q 1

(C) 24 -q 1

(D) 30~ 1

13/I~",T ~"...V<-"
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120. Which test is carried out to know the
r.esistance to flow, of. the given
bituminous material

(A) Softening point

(B) Penetration

(e) Ductility

(D) Viscosity

121. On a WBM road the roller used for
. rolling purpose is ofweight

(A) 3 to 5 tonnes

(B) S to 8 tonnes

(e) 8 to 10 tonnes

(D) 15 to 20 tonnes

122~As per IRe specification, in the
construction of premix carpet, the
grade of bitumen to be used should
be of penetration

(A) 40/S0.

(B) 80/100

(e)" 1801200

(D) 1001120'

123. To transfer wheel load at. expansion
. joints from one slab to the -other

(A) Tie bars are used
(B) . Dowel bars are used

(C) Hanger bars are used
(D) Bitumen filler is used

120. ~ ~ ~ftI9i l.fIT~ ~ f4}14 ~
';ffln~ ~ ~ cM9i«l ~ ctft '\iffift t -

"? '

(A) ~5CF1(UI ftr.s'

(B) ~.

(e) ~

(D) ~<4I9i"1

121. .~ liftrff ~ "CFIl. ~fiH" ~. ~ ~ .
~~l.fIT ~m.nrt-
(A) 3 ~ 5 e.{
(B) S~ 8 e.{
(e) 8 ~ 10 e.{
(D) IS ~ 20e.{

,
122. ~CFll{qG $ f;f",iul ~.~~.

fit~ftI9i wis' (qtf)~~~
$~,iR'T'~-

(AY 40/50

(B)· 801100

(e) ·180/200

(D) 1001120

123. mm~ 'ql ~ m~.~ 'ql.T.fil;' .
\TRenT ~ em- ~'.~ -

(A)~-llR ~ ~ t
(B) ~-GrR~~t
(C) ~-GrRwim~t
(D) f'il3i('q9i ~ l.fIT ~ ~ t

Set- A
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.124. According to IRC-52-1973, for, a
single lane national highway. in a hilly
area

(A) The total width of the roadway
must be 6~25m

(B) The width of the carriage way .
. must be 3.75 m

(C) The shoulder on either side
must be 1.25 m

(D) All the above

125. The maximum super elevation on hill
roads should not exceed

(A) 7%

(B) 8%

(C) 9%

(D) 10%

126. In hill roads minimum sight distance
required is equal to

(A) Stopping sight distance

(B) Passing sight distance

(C) Braking distance

(D) None of the above

!

I
124.~. 3m.~. 52-1973~~~

~.q~ ~ ~ {I~'wi ~ ~

(A) ~.~ t€\' ~ ~ 6.25lfl
M~I

(B) ~ -el' ~ ~1~I$3.75lfl ~

~I

(C) m.en ~ ~ mtfi ~m ~ ~
1.251ft~~ I

125. ~ ~ -ij~ ~ WR l{Wta:tl,", f.{q
~~~"ir.n~-

(A) 7%

(B) 8%

(C) 9%

(D) 10%

126. ~ ~-ij~~ 4\.:tdJizyi~--
--- ~ ~ 3'fl€4:t4Cfi~.

(A) ~ ~:tittl

(B) -.mq;~¢

(C) m-rr~

(D) 3q(Fffi -ij~.'ctill~

.
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127. If a road has been.provided in cutting,
then side drains should be

(A) On one side of the road

(B) On both sides of the road

(C) In middle of the road

(D) On both sides and middle of the .
road,

128. As per IS 456-2000 the flexural
strength (fer) is obtained by

. . .

•
(A) fer =O.7.Jfuk .'

(B) fer = 0.55.Jfuk

(C) fer = 2Jfuk

(D) fer = 1.5~

fek-characteristics compressive
strength of cencretion Nzmm?

129. The modulus of elasticity of concrete
can be estimated as

. . (A) Ec = 5700Jfuk

(B) Ec =6000.Jfuk

(C) Ee = 7000Jfuk

CD)' Ec = 10000Jfuk

fek-characteristics compressive
strength of concrete in Nrmm?

127. 3FR ~ et=iT ~ ·11'~ Tfmt m
~·~·f.lcm:fi~~ -

(A) ~~~~

(B) ~~q);ft~

(C) ~~'~~11

(D) ~. ~ ~ O\tn 'Om ~ $
~~11

128. ifHff)(f ~ 456-2000 ~ ~~
~ ~~ (fer) >rrn ~ \jf'ffiT t -

(A) fer = 0.7.jfuk

(B) fer=O.55,Jfek

(C) fer = 2Jfuk

(D) fer = 1.5.Jfuk

fek- ~~ ficft$(it ~~, ~
tfiT Nzmm?-ij

129. €i;€\G ~ ~~ +4jqi'€fj Cfil ~

M.II(;H~~t - ~

(A) Ec = 5700.Jfuk

(B) Ec = 6000.Jfuk

(C) Ec = 7000.Jfek .

CD)' Ec = 10000Jfuk

fek- cii~ cf't ~~ ~~7:i

, ~~, Nzmm?11

II
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130. The durability of concrete is affected
by !

(A) The cover to embeded steel

(B) The water cement ratio and
cement content

(C) The shape and size of the
member

(D) All the above

131. For concrete mixdesign of grades
M20, M25, the standard deviation is
considered as

(A) 3.5

CB) 4.0

(C) 5.0

CD) 4.5

132. The minimum period to remove props .
to slabs spanning 4.5 m and over 4.5 m
are respectively

I
l

(B) miiGcFrrlfflfT"Cf~~~
~

131. M20, M25 ~~ ~~ ~ ~
~ lfRCn ftf~ ~ ~ t.-.

(A) 3.5

(B) 4.0

(C) 5.0

132. ~:-~.~ cnr ~MI6I 4.5 1ft "Cf
4.51ft~ ~ it ~ ~ ~ ~
cFrr~"1nq ~·mm ~:it<ft t

(A) 7 & 14 days . (A) 7q14~

(B) 14 & 21 days (B) 14"Cf21 ~

(C) 7 & 7 days' (C) 7q7~

CD) 3 & 7 days (D) 3q7~
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133 .. For simply supported beams up to
10 m span the span to effective depth
ratio should not exceed

(A) 7

(B) 20

(C)· 26

(D) 10

134. The development length of bars as per
IS 456-2000 is given by

(A) Ld=~
4tbd

(B)Ld = ljJ as .
.Zrbd

133, 10 liTwen q;<Wtlet~ mtmUT~wifilfl
um ~ ~ .'~ q;H let Cf mur c:Jn
~'~~'l1mt-

(A) 7
(B) 20

. (C) 26

(D) 10

134. 'iiIUfh4 lI'RC6 456:-2000 ~ ~lrn
~ (Wti:q 1$ ~ cfit \jffift t -

(A) Ld = ljJ as
4tbd

(B) Ld = ljJ as
2tbd

Ld=
as- (C) Ld= as(C) 4ljJtbd 4ljJtbd

Ld= as (D) Ld= as
(D) 2ljJtbd 2ljJtbd

135. The maximum value of bond stress
for any grade of concrete is taken as

. (A) 1.2N/mm2

(B) 1.4N/mm2

(C) 1.9N/mm2

. (D) 2.5 Nzmm?

135. ftmft .qy 'frgc:Jn eii£la ~ .~' 3f1'iiu

safdi$f(Wt ~ ~lfAl1mt-

(A) 1.2N/mm2

'. (B) 1.4N/mm2

(C) 1.9N/mm2

(D) 2.5N/mm2

Set-A13IENLVC -39-
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136. The nominal cover for longitudinal
reinforcing bars in a column is taken
as .

(A) 25mm

(B) 30mm'

(C) 40mm

(D) 50mm

137. The rmrnmum area of tension
reinforcement shall not be less than
that given by

As 0.85
(A) -=-.-

bd fy

As fy
(B) -=-

bd 0.85

As 0.85
(C) -=-fy , bd

As fy
(D) --=-

0.85 bd

138. In slabs the maximum diameter of the
bar shall not exceed

(A) 1I8th thickness of slab

(B) III Oth thickness' of slab

(C) 1I20th thickness of slab

(D) None of the above

136. ~cq i ~~t~ 51R1<iW'"1~~T ~ ~
~ 3ffCR1JT WPn ~ ~ -

(A) 25 ffr .Tft.

(B) 30 ffr. Tft.

(C) 40 ffr. Tft.

(D) 50 ffr. Tft.

137. (f"1"fCf $\ Rt <iH~"1ctil 4\.:t ('j Ji ~ f.:Iis:;r
~ >rm~'SPF;~ ~ cnq~ ir.rr ~ -

As 0.85
(A) -=-

bd fy

As fy
(B) -=-

bd 0.85

As 0.85
(C) Ty= bd

As fy
(D) -=-

0.85 bd

138. 1Wm Cfi~Ch"i i ~ ~~ oerm
. ""----~~~ir.rr~-

(A) alMICfiMCFi ~ ~ ~ 1/8

(B) aIMICfiMCFi~' ~ ~ 1110

(C) alMICfiMCFi Cfft ~ ~ 1120

(D) aqihfi i ~cnlt m

13IENLVC -40-
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139. The minimum and maximum area
of longitudinal reinforcement in
columns should be. respectively.
(A) 0.8 and 6% of crossectional area

of column
(B) 0.4 and 4% of crossectionai area

of column
(C) land 6% of crossectional area

of column
(D) 1 and 4% of crossectional area

of column

140. Th.e partial safety factor for
combination of deadload + liveload
is taken as
(A) 1.5
(B) .1.0
(C) 0.9
(D) 2.0,

141. The limiting value of the depth of-
neutral axis for steel grade fe250 is
given by
(A) x4 max/d = 0.53

x4max =0.48
(B) d -

(C) x
4
maxld = 0.46

(D) None of the above

142. If the quantity of concrete is limited
to 5m3, the minimum number of
sample required to be tested will be,

(A) 1

(B) 2

,(C) 3

(D) 5

139. ~ ~ i Hktl$ .qf~ ~ ~
~ '"i(~aq ~ ~ $IRtii4H01 ctrt
lf1m~:'ir<ftt -

(A) ~.~ ~cnr 0.8 q 6%

,(B) ~ ~ ~ CfiT0.4 Cl 4%

(C) ,~~~~CfiTlq6%

(D) ~~ ~CfiT 1~ 4%

140. ~emit~ + ~~ ~ ~ mmcn
wan 'UUTCfi(fIT llR ~.~ t
(A) 1.5
(B) 1.0

(C) 0.9
(D) 2.0

141. 3tfR ~. (fIT.'frg fe250t m. 3&1fft 01
3l~ (fIT ~ lfr.:r Wn -
(A) x4 maxld = 0.,53

x4max =0.48
(B) d

(C) x
4
maxld = 0.46

(D) gq <t'di i~ cnTl '01'tT '

142. 3tfR ~ qft lf1m5 'tR lfi. (fCf) ~
t "ffi'.~'~ \iJR ~ m~ efn
~Wft-
(A) 1

(B) ,2 ~

(C) 3

(D) 5
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143. Isohytes are known as
(A) Areas of equal precipitation
(B) Lines of equal precipitation on

map ,

(C) Lines of equal temperature on .
map

(D) Line of equal barometric
pressure on maps

144. Intensity of rainfall is known as
(A) Total rainfall in a period
(B) Rainfall per unit area
(C) Volume of water collected per

unit time
(D) Depth of rainfall per unit time

during which it fell..

145. A hydrograph is a plot of

(A) Precipitation against time

(B) Stream flow against time

(C) Surface run off against time

(D) Recorded run off against time

146. A 10% flood frequency means

(A) Flood will increase by 10%
every year

(B) Every tenth year there will be
flood

(C) Flood has 10 out of 100 chances
of being equalled or exceeded

(D) All the above

(A) ~ CfEfi ~ ~

(B) ·~1R~CfEfi~~

(C) ~1Rmn;r·dlqql"i~~

(D) ~ 1Rmn;r q I!!&Icst if;mtt

144. CfEfi cfft ~ it<ft t -
(A) ~~~.~~
(B) m~~-ij·~
(C) m ~~-ij l{€f)fSid m:ft'tT

-mm
(D) CfEfi ~ ~ ~ >ffi\' ~ ~-ij

~~~

145. ~ '*""$ ~ ~t
(A) ~ ~ ~ CfEfi <fIT

(B)·~~~~~ "-

(C) ~~~~cm
(D) ~~~~cm

146. 3tlCMlq"i ~ 10%.~ <fIT~ t -
(A) 3tlcH·I~"im ~ 10% cfft ~ ~ .

~.

(B) ~G{{~-ij 3tlCMlq"i m-m
(C) 3tlCMlq"i <fIT ~m ~ ~

cfft~ 100-ij~ 10lTR~

(D) 3q<hfi ~

13IENLVC -42~ Set-A

1

I



•

•

- -

147. Cut off in earth dams is provided to -147. ~ $Grim 1l~ ~ ~~. -

(A) Check free. flow of seepage -(A) ~cHiil6IOI ~ $ ~_~. tnl
water ~

(B) Increase path of percolation (B) 'fu:nci' $ 'q'~ em ~
(C) Make foundation water tight (C) -;ftq em ~ UUT GRr.fT

(D) Both (A) & (B) are correct (D) (A)q (B)'$tl ~~

148. Bandhara irrigation is 148. Gimu III'€I 1$ ~ -

(A) Run of the river scheme (A) ~;rcft 41\1141

(B) Minor irrigation scheme

(C) Unproductive scheme

(D) The only efficient scheme

(B) ~~ ~ 4')\1141

(C) iR 3-NIGCfi 41\if41 .

(D) ~ 'tT >I~ 4')\ifi11

149. A regulator constructed on a canal at
an intermediate pointis called

(A) Cross regulator

(B) Head regulator

-(C) Distributory head regulator

(D) None of the above

149.·~ -:m $ ~ ~ ~~ ~
~ f.I~ litCfi em ~ ~ .,
(A) ~ f.I~ I14Cfi

(B) WfEi.f.lillqCfi

(C) ~d\{1 Wi f.I~ litCfi

(D) 3q{tm 1l~ tfl1t ~

150. A structure which takes out silt from
a canal is called

150. '61"8 ~h'€l4I '\i1l ~.~ ~ f.I G5h 1tSj4 'CflT

~~t--
(A) Silt excluder

(B) Scouring ..sluice

(C) King's vanes -

-(D) Gibh's Groyne wall

(A) ~ ({cfw!ft1,s(

(B) ~cntffG

(C) ~ RI-e\§q;WICfi

(D) -~mf;r.~

\
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151. Choose the correct statement from the
following

(A) Scrap value and salvage value.
are same for a property

(B) Salvage value is different from
scrap value

(C) Salvage value is that which is
realised after selling it without
demolition .

(D) Both (B) & (C) are correct'

152. Sinking fund co-efficient is given by

S
(A) S - (1+st-1

1
(B) (l+st-l

s= S .
(C) (1+ s)n-l -1

(D) None of the above
S = sinking fund coefficient
n = utility period
s = rate of interest in sinking fund

153".The purchased cost of vehicle is Rs.
30,000, salvage value of vehicle after
a period of 10 years is Rs. 6,000/-. The
depreciation for each year will be

(A) Rs. 2,40D/-

.".(B) Rs. 6,000/-

(C) Rs. 3,000/-

(D) Rs. 4,800

(A) «14M~ '~~' 'Om 'f.:m:m:
~'~~~

(B) ~~,.~~~W(1Tmmt

(C)~~~~~cit~~
~, i\:qcfi( >rrn ~ 'fflOT ~ ,

152. ffifcfl4\f.tiU~~t-
S

(A) S= (l+st-l

1
. (B) S= C1+st-l

(C) S::;;:(l+S~-I_l

(D) aQU'dl·-ij~ ~ ~

S - mfcfl4\Frftt~
'n - aQ4'lfih'1I ~ .

·.: s-~~

153. ~~~~~~ 30,000/- t,~
'ff"ffi ~.~ fct'("~t<~ ~ .6,0001-
·t I~ ~ 3ict'{(ii1Oi cEl·~ itTft -

(A) ~ 2,400/-

(B) ~ 6,000/-

(C), ~. 3,000/-

(D) ~ 4,800/-
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(A) 1.5 D

154. Minimum pitch of there vets shall not 154. ~~~",\"'flt4~~~-
be less than

(A) 1.5 D

(B) 2.0D

(C) 2.5 D

'(D) 3.0D

D - is gross diameter of rivet

155. The effective length of fillet weld
should not be less than

(A) two times the weld size

(B) four times the weld size

(C) six times the weld size

(1;») weld size

156. According to IS specification, the
effective length of a column
effectively held in position at both
ends and restained in direction at one
end is taken as

(A) 0.67L

(B) 0.8L

(C) L

(D) 1.5L"

(B) 2.0D

(C) 2.5 D

(D) 3.0D

D-'~ enl ~ '&I'm~

~55.~ m~>l'\WftM¥OCqI$ ~----cnJi
~Wft~-

(A) m3mf)R~cit~~

(B) -m3mnR~~~~.

,(C) -m ~ ~ -u: 'T1TT ~

(D) -m3mnR~

156. cqrofu:r ~ ~~Ire~~ ~, .~
~ efft mwit ~kU$, ~ ~ fiR '
~ ~ -ij amroa ~ ~ ~ mrr'.q
~fiR"Q"( ~t, ~~

(A) O.67L

(B) O.8L

(C) L

(D) 1.5L
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157. The:maximumselenderness ratio of
a compression member carrying both
dead and superimposed load is

(A) 180

(B) 200

(C) 250

(D) 350

158. Effective length of a battened column
is increased by

(A) .5%

(B) 10%

(C). 15%

(D) 20%

159. Economical depth of a plate girder
corresponds to .

(A) minimum weight

(B) minimum depth

(C) maximum weight

(D) minimum thickness of web

i
157..~. ficftgt:t .~ ~ ~ fi'?T{'+IT{ q

3iI(1fQ d cqR q;n:f«f'~, q;l ~Oli

\4M •.g(:h+~' mor t -

(A) 180

(~) 200

(C) 250

(D) 350

158. 3iIU'lI~d~'i{ ~ ~ Hktl$ ~

~t-
(A) 5%

(B) 10%

(C) 15%

(D) 20%
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160. Intermediate -vertieakstiffaer ill a
plate girder .need be provided at the
'depth of aweb exceeds

(A) 50t

(B) 85t

(C) 200t

(D) 250t

where t is thickness of web

161. To minimisethe total cost of a root
truss the ratio of the cost of truss to
. the cost of purlins shall be

(A) 1

(B) 2

(C) 3-

(D) 4

162. As per IS 875, for the purpose of
specifying basic wind velocity, the
country has been divided into

(A) 4 zones

(B) s zones

(C) 6 zones

(D) 7 zones

160.·~·~~~~-ij~
lit 311E4~qCfifff.~ t ~ ~. ~
~, ~ ~ cfrr----:-« ~
lTfftt -

(A) 50t

(B) 85t

(C) 200t

(D) 250t

t-~cfrr~t

161.wm ~~. ~ ~ ~ cfrr(OfJ1Tff~
4-"1(1qm$~, ¥f'~(OfJ1Tff'Cf~
~ (OfJ1TffCFIT ~~. ~ -

(A) 1

(a) 2

(C) 3

(D) 4

162. 'ql(t'ftq ~ 875 ~ ~, 1Ff ~

lTfit~ ~i1lreCfi'(OI ~~, ~~ ..~

~t-
(A) 4~.-ij

(B) 5~-ij

(C) 6~-ij

(D) 7\lT1'it-ij
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163. Which of the following section will
have large shape factor?

(A) ~ectangle

(B) I-section

(C) Solid circular section

(D) Diamond

. 164. The load factor is defined as

Ultimate load
(A) . Yield load

(B)
Yield load

Working load

(C)
Ultimate load
Working load

(D) None of the above

165. The minimum thickness of steel plate
which is directly exposed to weather
and is not accessible for cleaning and
reparing, should be

i ,

(A) 4.5mm

(B) 6mm

(C} 8mm

. (D) 10mm

163.'f.tt;r,q ~ flcwl •••$r~fu ~OIiCfi

~Wrr-

(A) 3=t1(;fldICfiH

(B) I-f\ (f.\lr.:f

(C) oR:f t'd iCfiH

(D) gT<'f1g

(A)

(B)
~'q"R

Cfll4CflI*' 'q"R

(C) ~ "I"R

Cfll4CflI {\ 'q"R

165. ~ ~ \ill fcf; €mIlCl{OI ~ ~ ~

.q ~ ~ 'Om '\ifflf ..~ q Rq(;f 0:4' ~
~~';Jft~, ~ 4\"tdq ~M
~-
(A) 4.5~. m.
(B) 6~.m.

(C) 8 ~.m.
(D)· 10~.m.

13IENL VC '-48- Set-A
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1.66. The pitch of tae1Q.~~rivets, when
double angles co~back to back
and acting as tension member should
not be more than

(A) 500mm

(B) 600mm

(e) 1000mm

(D) 300mm

167. Intermediate vertical stiffners are
'1 ' . .

. provided in plate. girders to
~ - ' t .

(A) eliminate web buckling

(B) eliminate local buckling

(e) transfer concentrated load

(D) .prevent excessive deflection

168. Battens provided for a compression
member shall be designed to carry a
transverse shear equal to

(A) 2.5% of axial force in member

(B) 5% of axial force in member

(e) 10% of axial force in member

(D) None of the above

1~.ESt:;::!:;!~~
I

i

(A) 50d ~.1ft.

(B) 600 ~.1ft.

(e) 1000 ~.lft.

(D) 300 fi:r.1ft.

167. ~l'f't{ij~~gqfm~.~

~t-
{A) ~~qft~~~~

(B) ~.~qft~~~
~

(e) ~Rrl·cqn qft ~iftCfi( .~ ~ ~

(D) ~'fc{~qft~~~

168. ffQ"ts4 ~~ ~~-m
~~~,tf)r~~~
~~~~\iffil1~.-

. (A) 2.5% 3f~ ~

(B) 5% 3fafu;f ~

. ,

(D) 3q(hhij~~~

Set-A
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169. One cubic meter of teak wood weighs
approximatel y

(A) 20Qkg

(B) 625 kg

(C) 1250 kg

(D) 1800 kg

170. In solid wood column the
selenderness ratio should not exceed

• (A) 11

. (B) 25

(C) 35

(D) 50

171. Water demand of city includes

(A) Domestic water demand

(D) Commercial & industrial demand

(C) Fire and public use demand

(D) All the above

169. 3'tj)i'i1"'(1:~ l.A ltm (fIllet,:. Mas~
enT~~t-

(A) 200fifi. m.

(B) 625 ftfi. m,

(C) 1250~. trr.

(D) {800~. m.

170. ~ omltrB lff'l '$t ~ •.gf~(f ~
-~-~ ~ortr'~\"'ff~ ..

(A) 11

(B) 25

(C) 35

(D) 50

171. ~ ~. 1ft ~ lrilll1 ~fi:q~d ~
t- .

.(A) 1fu\~.1Wr

j

"

~
. I
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'17~.;~,As,per;norms,45 li~ofwaterper
person per day provjfiJ~Lincaseof

(A) Hotels

(B) Hospitals

(C) Office buildings
, ''I ,"" ~ ~

(D) Public places

173. If P is population of a place in
thousandsthen the fire demand of
wate,rill1it~rs per .~':lte, according
to kuiching formula, is given by

(A) 5663JP

172."lfr-fCfi $~, 45·~"QT;:fi stMOQRt;
m~.1lft Gt -«'fu:;r.q~'mm l-

(A) ~

(B) 3H"4d I~

173. 3tlR ~ ~ ~ \itOffi&04I,~ .q P
lo)~ ~~ ~ 3ffir ~ ~"QT;:fi~
.lritT,¥=elWiil ~~ ~~l-

(A) 5663JP

(B) 3182JP
(B) 3182JP '

(C) 4640JP (C) 4640JP

(D) aq(hh.q~~~(D) None of the above

174. Maximum.consumption of water is 174."QT;:ficnr ~ aqtilH irnT ~ -
noticed in

(A) Paper factory

(B) 'Steel plant

(C) Automobile' Industry ,

(D) Foundary

,

(B) ~,~.q
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176. The river water has an important 176. ~"*-q-r;:ft lfrr ~ qtfCt,(oi :wr ~ -
properly called

.175. If the average daily consumption of,
water of a city is 105m3, then
maximum daily consumption on peak.
hourly demand will be

(B) 1.5x 105m'

(C) 1.8 X 105m'

(D) 2.7x 105m3

(A) Turbidity

(B) Seft purification

(C) Toxicity

(D)" Hardness

175. 3tTR~~wtfr;ftq;r~~

~. 10~3~, ~ ~ lk) "* ~
~.~~it1lT-

(A) 1.2 x 105lft3

(B) 1.5 x 105lft3

(C) 1.8 X 105lft3

(D) 2.7 xl05lft3

(B) ~: !(!r:a:Cf){OI

(D)

177~Ground water is generally free from 177. 'il..~ ftlql;:(c('I: ~ ~ ~ - •

(A) Suspended impurities (A) f.h4fd1 a 31!(!r:a:~i

(B) Dissolved impurities (B) y>M4'1I1M 31:O~ i

(C) Both (A) & (B) above (C) (A)Cf (B)~

(D) aq(\"dj it ~ CfITt ~(D) None of the above

r
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178. The turbiditimeter-used for the
measurement of turbidity from
0-1000 ppmdirectly is called

(A) Jackson's turbidimeter

(B) Baylis turbidimeter

(C) Hellige turbidimeter

(D) None of the above

179. Permanent hardness of water can be
removed by

(A) Limesoda process

(B) Base Exchange process

(C) De-mineralisation process

(D) All the above are correct

180. Taste and odour in the water are
'caused due to presence of

(A) Living Algae .: ,

(B). Decaying organic matter'

(C) Phenolic substances

(D) All the above

178. 0-1000 ppm*~<"\q•••~ ~ l{Tl:R~
~ ~. ih~~lq •••1f1'Q'Cf;t -

. '(B) ~ 4iG~lq •••1f1'Q'Cf;

179. ~ c€t ~?fTlft q;oT~nT~~c€t i.ifl

~t-

180. lfr-fi. 1l (4IG6i TiU·f.:n:::r ~ ~ ~
q;roJf~t -

(A) fG1~d ~
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181. The maximum allowable limit for
flouride in drinking water is

(A) 0.5 mg/liter

(B) 1.0 mglliter .

(C) 1.5 mg/liter

(D) 5.0 mg/liter

182. The dissolved oxygen level in natural
unpolluted water at normal
temperature is found of the order of

(A) 1mg/liter

(B) 10 mg/liter

(C) 100 mg/liter

(D) 1000 mg/liter

181. .~ ~ l:fr.fi -ij tWll($s ciillfrnl ciil
~~.~:-

(A) 0.5 iff. m./~

(B) 1.0 iif. m./~

(C) 1.5 iif. m./~

(D) 5.0 iif. m./~

182. ~ 1'11•.~ (ff'q'~ l:r 'tf\ 3nr~f~ \jf~ if
PetH Ri d 311ct+ilGt "i cfiTlfrnl M~-

(A) 1iif. m./~

(B) 10iif. m./~

(C) 100 iif ..m./~

(D) 1000 iif. m./~ .

183. The Disease which is not a water 183. ~ 'ij ~ Cfl1"i«l ~-'Gtf.td' ~ ~
borne disease ~ -

(A) Typhoid (A) GI$Cfil$s

(B) Cholera (B) ~

(C) Dysentery (C) ~

(D) Maleria (D) qAf(m

Set-A13IENLVC .;.54-
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184. The detention time for an ordinary
, plain sedimentation .tank varies .from

(A) 1 to 2 hrs

(B) 2 to 4 hrs

(C) 6 to 8 hrs

CD) 20 to 24 hrs

185. The effective size of sand particle for
slow sand' filter varies from, '

(A) 0.30 to 0.35 mm

(B) 0.35 mm toO~50mm

(C) 0.5 to 0.65 mm

(D) 0:65 to 0.75 mm

186. The ratio of maximum sewage flow
to average sewage flow for trunk
'mains having diameters more than
1.25m, is

(A) 1,.5

(B) 2.0 '

(C) 3.0

(D) 4.0

187. If the diameter of sewer is 150 nun,
, the gradient required for generating
self cleansing velocity, is

(A) 1 in 60

(B) 1 in 100

(C) 1 in 120.

(D) None of the above

184. mtmUTmGT dH€4ihfHUI ~,~ '~l ..~14'
~mmt-
(A) 1~2~'

(B) 2 ~4lft

(C) 6 ~ 8lft

(D) 20~ 24lft

185.'urq~ f.\~&Cfi'ij~Cf)Tm:rreft~

mmt-
(A) 0.30 ~ 0.35 ffr.1ft.

(B) '0.35 ffr:rft. ~ 0.50 ffr.1ft.

(C) 0.5 ~ 0.65 ffr .lft.

(D) 0.65 fif.1ft. ~ 0.75 ffr:~.

186. 'iq;WI flI~CfiI ~ 1.25 m~ ~ t,.. ,

. -a ~~. 3ffi:rn~' ~ em
~~t-
(A) 1.5

(B) 2.0

. (C) 3.0

(D) 4.0

187. ~ ~ flI~CfiI ~ 150 ffr.1ft t,~
~:m'trcn 'l'fftr ~ ~ ~ ~
3ilq~q,Cfi $IqOldl ~ 'i -
(A) 60~ 1

(B) 100.q 1

(C)i20 -ijl

(D) 3qihfi -ij"{)'~ ';Jtf

13IENLVC -55- Set-A



188. With self cleansing velocity in sewers
(A) Silting occurs at bottom
(B) Scouring occurs at bottom
(C) 'Both silting & scouring occurs

at bottom
(D) None of the above

189. A paper moistened with lead acetate
when placed in manhole for five
minutes turns black: This indicates
that sewer contains

(A) Hydrogen sulphide

(B) Carbondioxide

(C) Methane

(D) Oxygen

190. 'Cowl' is provided at

(A) Lower end of ventelating
column

(B) Upper endof ventelatingcolumn

(C) Upper end of manhole

188. ~ -ij~: mucn Tfffi ~ '(f)RUT

(A) (Wf-ij ~fiibl inft·~
(B) (Wf -ij ~ itffi ~

(C) ~Wi41 CJ ~w.:rr(Wf-ij~

~

(D) 3q(lffi -ij ~ ~.~

189. ~ ({fula-ij ~s3ff~\iIGf iI••{?IH
-ij'Q'iT.r.ilf;ra ~ ~ \iffiIT ~, it~ cnTm
it \iffiIT'~ I·~~" qmrr cfiT ~ -ij .

----.~
(A) 61$4'\if •• eNiI$s

(B) ~ ~ 3tICMI$S

(C) 1ft~
.(D) 3t Icttfl \if••

190. 'ChI3iH'~~~~-

(A) tiOild" ~~~fiR1:R

(B) tial-d" ~ ~ '3itfft fiR ~

(C) iI;H~IH ~ ~ ftR1:R

(D) First step in manhole (D) il4{?IH ~ '5r~ ~ 1:R

191. Aerobic Bacterias 191. 41~;ilstl·PiOlI'U

(A) Flourish in the pres~nce of free (A) 3tICHfl\if•• cfiT ~ -ij~ ~
oxygen

(B) Consume organicmatter as their
food

(C) Oxidise organic matter in
sewage

. (D) All the above

(B) ChlafPlCh 't(GTm cnT ~ ~ ~
~-ij at4i(141~~·

(C) -~~ .11 tfrr~m 'tfGT~ tfiT

3tlctEflCh~ol~.~

(D) aq(lffi ~
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.·192. Imhoff cone is used to determine

. (A) Settlable solids 1
,

(B) Suspended solids

(C) Dissolved solids

(D) None of the above

193. The suitable cross-section .of sewers
to carry combined flow, is

.(A) Circular

(B) Egg shaped

(C) Rectangular

CD) Horse shoe shaped

194. For drainage pipes in buildings the
test applied before putting them to
use is

(A) Water test

(B) Smoke .test

(C) Straightness test

(D) All the above

192. $4$Tq;;CfiT;{ enT ~Q(~~lal---_~ ~.~

.q. ~ \iffifT l

(B) f.iMfiti1 ~

(C) R..f{;t", ~

;,.

193.~ ~ q;) ~\iITol $ ~aq~:m
~~~ ..

(A) ~'dICfij(

(C) ~lifaICfij(

194. ~1l, \if(Wt f.iCfiI«1.~ CfiT~
~ ~.~ ~. ~.~ c€t \iffift

\ ~ ~

(A) ~~

(B) ·~m~
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195. To prevent settling of sewage both at
the bottom and on the sides of a large
sewer, silt cleansing velocity
recommended for Indian conditions,
IS

(A) 0.50 m/sec.

(8) 0.70 m/sec.

(C) 0.75m/sec.

(D) 1.0 m/sec.

196. 5 day BOD is biochemical oxygen
demand at a temperature

197. Depletion of ozone layer in the outer
atmosphere may cause .

(A) Lung cancer

(B) Skin cancer

(e) Bronchitis

(D) Heart disorder

195. -am~ ~ -ij~~'ffi'l -om'QWi'ij

~~~~~,~~.
-ij~: ~Tffficnr~mor~-

(A) 0.50 .1ft/ ~.

(B) 0'.70 1ft/ ~.

(e) 0.75lfi/~.

(D) 1.0 1ft/ ~.

196. 5 it.ft~. 311. tL~HH4.n ~lc:m1\i1"i

~lq:;S4ml f.tq dNSti14 ~ irffi~-

(A) ro-c

(B) zo-c

(e) rrc

197. cuy;¥iS&I-ij~"fffi~~~cmuT

mm~-

(B) ~cnri;m
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198. Sinking fund is' that'twld which is

(A) , kept aside for reconstruction of ,
building at the end of its utility
period

(B) likely loss to the property

(C) kept aside for compensation of
employees

(D) all the above

199. Free hold prope~y is that property

(A) where in the owner is in absolute
legal possesion of the property

(B) like furniture, ornaments etc.

(C) refers to land and buildings trees
etc.

(D) none of the above

200. The scrap value of building is
generally taken as

(A) 10% of cost of construction

(B) 15% of cost of construction

(C), 20% of ,cost of construction

(D) none of the above

(A) .~ ft6 ~ cnT aq~,f(H11 ~
~ ~ ~ ~ 9;4f.hiioi ~ ~
~~.~~I

(B) ~~~3tfifil"tCFiT~
~

'(C) tfi¥:ff.llft4i ciITaifd'{fd ~ ~"RfU

(D) aq(lffi ~

199. ~ ~lfJt('q ~ ~i4ffi'~ ~ -

·(A) ~~~'HfFttfiq;r~~
~mrr~1

(B)' ~ fen lh;:iff.l(, ~(;H1ft $f(4IRI
, .

(C) ~,~~$f(4IR

(D) aq(lffi -ij ~ ~ ~

200. ~q;r'm-~' HI¥iIP4ft:~~

~ -.
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1\f3S
INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS

(Please use Black ball-point Pen)

1. Method of Marking Answers:
.. t

To answer a question, please darken one
bubble out-of the given four, in the OMR
Answer Sheet against that question.

2. Valuation Procedure: I

There are four altemativeanswers to a
question, only one of them is correct. One
mark will be awarded for each correct
answer, if more than one bubble are
darkened for a question, it will be
presumed that the candidate does not know
the correct answer hence, no mark shall
be awarded.

3. Cancellation or Change in Answer:
It will not be possible to change the marked
bubble with black ball-point pen; therefore,
correct answer should be carefully chosen
,before marking it on OMR Answer Sheet.

4. Handing over of Answer Sheet to
Invigilator:

(i) Please ensure that all entries in the
answer sheet are filled up properly i.e.
Name, Roll No., Signatures,
Question Booklet-No. etc.

(ii) CANDIDATES ARE PERMITTED
TO CARRY AWAY THE QUESTION
BOOKLET WITH'THEM AFTER
THE EXAMINATION.

s. Care in Handling the Answer Sheet:
While using answer sheet adequate care
should be taken not to tear or spoil due to
folds or wrinkles.

(~Black ban:"poiht ~cnTm:ITrr~)

1. ~~enr:ofu:f»:

~~t~3TI.~.3lR. ~~~~
-mt~~~TTRm~~~~~
q?r~CfiTffi~ I

2. Wi€4'i4~ :
~-mtwnhnm~t ~~~~
-mft~Iw.rq)T-mft~ ~ ~~~.3h:n
>Trnmrnl~~~~~~~~~
aT (fQ 11HT~ feFi llttl?dT~q?r -m CfiT~
~;@~~ 3fR~~:Wfi;@~~1

3. ~ctiTf.m:a-'€4'irom&I~(141 :

~~mFR;o~tm~~'¥r~
m~~tf.rwrq?r~~~Wn I

3lfr:~ CfiT-mm ~t ~.~ -m ~ CfiT
~~q:;'tl'

4. ~mccft§@ictiT~:

(i) ma.Tcfl q?r 3\"1(~ftGmrH~' ~ t!HlNd
CR~~~~t~~lRmft~
~--;wJ, ~-;p:¢R, ~~, ~-~

CfiT~, mR~~lR~-ilcn
m~~l

(ii) W~:mRf~&mffcm~-~ ~
m~~~-cfi't ~~ I

s. 3'tH!iftG'$~-ij-mqur.ft :'

, 3\"1V~n('OCfiT>rfuT~ ~ ~<IW ~ mq~
~I~~,~m~~~~-;r
~~I

13IENLVC -64- Set-A

SEAL

l
I
I
I

i

.,
••

{

{


